N of simulated tracks vs dxy |

N of associated tracks (simToReco) vs dxy |

gParticles
T 1 IIIIII| T

Trackin

10

..................................................

o T

=
o
w
I

......................

Reconstructed TPs

=
o
N

10E:

OJ. VO

Ratl

ot-vo

Rati

0.950

=
I

—25201510—50 510152025 —2520151050 510152025

0.95,

TP dxy (cm) TP dxy (cm)

Fit

Fit_TT_NEWdefau It _specPLess1-lowpt

TT Tetram- [TOWD

Fit

EWdefault”specPLess2-lowpt

AARAXXA

—a— D
—~— D
N of simulated track —— B
—— D

EWdefault"specPLess3-lowpt

Particles

Tracking
2

=
o
w

10?

10

oL-vo

Rati

0.95

—NEWdefault“specPLess4-lowpt

.....................................................................

30 20 -10 0 10 20 30

TP dz (cm)

Beconstru%ted TPs
w

o
N

10 2030
TP dz (cm)



	Contents
	Page 1


